
Y4  One step 

 
1.When cooking 
semolina, you need 
6 cups of water for 
every cup of 
semolina. 
You cook 4 cups of 
semolina. 
How many cups of 
water do you need? 

 
 

2. I think of a 
number, then 
subtract 17. 
The answer is 42. 
What was my 
number? 
 

3. A spider has eight 
legs. 
How many legs have 
9 spiders? 
How many do 16 
spiders have? 

 

4. Stefan has 42 toy 
cars. 
James has half as 
many. 
How many cars has 
James? 

 

5. There a six eggs 
in a box. 
How many eggs in 
eight boxes? 

 

6. Charlotte wrote 
eight words on every 
line. 
How many words did 
she write on 12 
lines? 

7. Emily had two 20p 
coins, three 50p 
coins and £1. 
How much money 
did she have? 

8. Gregory bought 8 
chocolate bars at 
25p each. 
How much did they 
all cost? 

9. Piers scored 3 
goals in the first half 
and five in the 
second half. 
How many goals did 
he score altogether? 

 
10. Alex bought a 
comic for £1.20 and 
a chocolate bar for 
31p. 
How much did it cost 
altogether? 

11. Owain travelled 
172 kilometres by 
train and then 22 
kilometres by car.  
How far did he travel 
altogether? 

 

12. ST. Peter’s 
house had 104 
house points and St. 
Paul’s had 79. 
How many more did 
St. Peter have? 

 


